o 0[GeV]

Ratio to ATLAS

=
o

=
N

7000 GeV pp

So

ft QCD

Average p, Vs N, (NCh >2,p >0.1 GeV)

B ATLAS

—a4— Pythia 8.240 default
—— Pythia 8.240 tune-A14-CTEQL1

0.8

0.6

0.4

0.2

[EEY

0.5

--Nn--

Pythia 8.240 tune-A14-MSTW2008LO
Pythia 8.240 tune-A14-NNPDF2.3LO
Pythia 8.240 tune-CUETP8S1

Rivet 3.1.0, = 7M events

mcplots.cern.ch [arXiv:1306.3436]

oooooo
— AN XXX ]
G R AL
..................... ' f‘
................ ]
" 1 " 1 1 1 | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 1 " 1 " |



	Contents
	Page 1


